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2015001| Linha 2 9,0 36 8,0 9,0 8,7
2015003( Linha 2 8,5 34 8,0 8,5
2015004| Linha 3 7,0 28 5,0 6,0
2015007| Linha 2 7,0 28 7,0 7,5
2015010| Linha 1 7,1 28,4 7,5 9,0
2015012| Linha 2 7,0 28 7,0 7,5
2015014| Linha 3 7,3 29 10,0 8,0
2015016| Linha 3 7,0 28 8,0 7,0
2015018( Linha 3 7,8 31 7,0 9,0
2015021| Linha 1 7,0 28 7,0 7,0
2015023| Linha 3 7,4 29,6 8,0 7,0
2015029| Linha 3 8,0 32 8,0 8,0
2015031| Linha1 7,0 28 6,0 6,0
2015035| Linha 2 8,0 32 9,0 9,0
2015039( Linha1 7,2 28,8 7,0 7,0
2015044| Linha 1 8,5 34 7,0 9,0
2015046( Linha 2 8,1 32,4 6,0 9,0
2015049| Linha 1l 7,0 28 5,0 5,0
2015050| Linha 1l 7,3 29 7,0 5,0
2015051| Linha 3 7,5 30 10,0 9,0
2015052| Linha 2 9,0 36 9,0 9,0
2015053| Linha 3 8,5 34 8,0 7,5
2015054| Linha 1 8,7 34,8 8,0 7,0
2015061| Linha 2 8,3 33 9,0 9,0
2015069| Linha 1 7,0 28 6,0 6,0
2015072| Linha 2 7,3 29 6,0 7,0
2015073( Linha 3 7,0 28 8,0 7,0
2015074| Linha 1 7,0 28 8,0 9,0
2015075| Linha 2 8,5 34 9,0 9,0
2015079| Linha 2 7,0 28 5,0 8,0
2015080( Linha1 8,3 33 9,0 7,0
2015084| Linha 3 7,0 28 10,0 8,0
2015089( Linha 1 7,0 28 8,0 7,0
2015090| Linha 2 7,0 28 6,0 5,0
2015091( Linha1 7,5 30 7,0 8,0




